
y = 72,759x - 253,61
R² = 0,9692

0

500

1000

1500

2000

2500

0,0 5,0 10,0 15,0 20,0 25,0 30,0 35,0

S
u

rv
o

lu
m

e 
d

'o
ri

g
in

e 
p

lu
v
ia

le
 (

m
³)

Précipitation (mm)

PM2_Persault Maheu
Réaction à la pluie



y = 439,13x - 1134,8
R² = 1
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PM3_Eugène Guillaume
Réaction à la pluie



y = 13,882x - 28,875
R² = 0,9999
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PM4_DO1 Pluie
Réaction à la pluie



y = 162,01x - 416,82
R² = 0,9978
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PM5_DO2 Pluie
Réaction à la pluie



y = 0,8092x + 0,3054
R² = 0,9348
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PM6_Bas des Auges
Réaction à la pluie



y = 298,71x - 946,97
R² = 0,9713
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PM7 + PM9
Réaction à la pluie


